Q.4 Fill in the blank with the most appropriate choice,

There are some areas of life that rationalism cannot
Ans X" A equivocate

x B. confiscate

{ C. explicate

x D. collocate

Question ID : 663695153
Status : Answered
Chosen Option : B

Q.5 Select the most appropriate ‘one word ' for the expressions given below.

Building where aircrafts are kept
Ans J A, Hangar

x B. Haute couture

x C. Granary

x D. Crematorium

Question ID : 663695152
Status : Answered
Chosen Option : B

Section : Reasoning

Q1 Pofafee § & o9 9 srursr S e?
Ans X A 111
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/< c.833

X D.357

Question ID : 663695156
Status : Answered
Chosen Option : B
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Question ID : 663695162
Status : Answered
Chosen Option : D
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Question ID : 663695163
Status : Answered
Chosen Option : A
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[ Question ID : 663695158

Status : Answered
Chosen Option: C
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Question ID : 663695164
Status : Answered
Chosen Option : B

Q.6 IHWIE BT T B Wl 0y # 7 St ¥ gOH yeR ¥ S fia g
i :oR:?
Ans X A g HE
o B T - aEfh
x C.?ﬂ“T:@ﬁ
X Do &

Question |1D : 663695160
Status : Answered
Chosen Option: B

O & wE ey F o # FEw 7| =+

Ans X A 19
B2
RIS
X D.18

Question ID : 663695165
Status : Answered
Chosen Option: B
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Question ID : 663695161

Status : Answered

Chosen Option : C

Q.9 us fAf¥a Fie yrwr &, i LIFE &Y 16 & ¥0 A SIfSd frar mar 8, BABY 1 155 ®UH
PIfEd forar war 8, 9t AWAY &1 ¥ Sifed fear smam?

Ans X A 42
X B.36
vcxs
X D.50

Question ID : 663695159

Status : Answered

Chosen Option : C

Page- 6




Q.10 fu e el & & 1 e i a8 & aar €)1 graite, v e s fa Ftave
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Question |D : 663695157
Status : Answered
Chosen Option : C

Section : Quantitative Aptitude

Q.1 T s T 3 a8 | AR Fe 91 BRI B T 81 T8 3 misec B SN €T
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Ans  OC A 13363
X B. 14853
 c. 153ds
X D.20%&E

Question ID ; 663695166
Status : Answered
Chosen Option : C
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Q.2 JTE A BT YT 560 TUC 8| TS SH SIG B Fa UX 25% BT oy ufewra aifefa oo 8,
at faedt e = g AfRe?

Ans XA- 420 ¥UT
W B 700 %uT
X c.500¥0g
/< D. 600 %Y

Question ID : 663695167
Status : Answered
Chosen Option : B

Q3 G of o 4 3Rl @ B dEede & e B # o ) 3R s A fr
2,00,000 9T &, & C 3k D & wrw UeEE F &9 F@ I 2

o o i

Ans  of A 300,000 F0T
25 B.6,00,000 ¥UT
< €. 60,000 F0T
2< D. 30,000 %Y

Question |ID : 663695170
Status : Answered
Chosen Option : A

Q4 2 Ty 3 3 ST T YET 1 Ha¥ 3% 4 TAT F YT F TUE | A TH 377 BT HF 20
FUT 2, 9t 3 WA off¥ 2 St @ ey T ¥

Ans X A 500 ¥
< B.300 %Y
¢ 100%T
X D. 400%uy

Question ID : 663695168
Status : Answered
Chosen Option: C

Q.5 ;m’arﬂi%ﬁ’z km, 1 ¢ # 3T 3 km 3T 1 92 & 3T 4 km a1 21 IHST Sitwa iy =am
?

Ans  off A 3kmihr
2 B. 4 km/hr
25 C.35kmhr
25X D.25km/r

Question |ID : 663695174
Status : Answered
Chosen Option : A
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Q.6 T Ry 91 SR 3 9o ¢ | Tod A Ul e 10 97 Suear 21 ge9 B 91 ufe wfar
fire 20 9uw & ok 7o ¢ Y nfy wfer fire 30 Tu® &1 12:00 T 769 A FUHT IE
HYa1 g1 5T 3 Ahs & 91¢ 9ed B Ugel R Ul & | i 2 s & 91e, 9e8 C
Ugd! 9R FUSdT &1 12:01 9% =l god TP H1Y fpa-t 9) =19 g2

Ans JA_Q
X B.2
X c.1
X D.3

Question |ID : 663695169
Status : Not Answered
Chosen Option : --

Q.7 oy HE A 5 O &1 20 3T #1 udten ¥ 3% 3iwd 3@ 18 B | 79 o) B ARG HHH
sqfRyd farar sirar 8, 9 7ea 3! P ot ea 18 ElaT 8 | S=aH 3 UIE HIA arel O S
T P 3 U H A0 BT & 3h] B! HAT 4 B | I=Ia¥ 3i® U 634 918 O1F A
foram siw wa fre?

Ans X A 18
X B.19
o co
X D.17

Question ID : 663695171
Status : Not Answered
Chosen Option : --

WO T ¥ @1 JUYTET 30 em HIgS D1 9 a1+ & 1e7g T gl YT §1 g9 diR @1 3 91 gPST H
ST AT B Hﬁﬁﬁwgﬂgg’lmﬁgﬁﬁzs%aﬁwtl T Bl TH T, AT
TaTPS A 20 cm BT 8! Y U gHS BT HIT 791 82

Ans X' A 50cm
JB 40 ecm
X C.45¢cm
< D.30cm

Question ID : 663695173
Status : Not Answered
Chosen Option : --

Q.9 10,000 TUT FI Y W farife awgls F W1 9 A 10% ufy af F aga fFa-h ol
T TS UT BHT?

Ans  C A 11,000 T
/< B. 11,025 30T
25 C. 1,000 ¥4
W D.1025%0w

Question ID : 663695175
Status : Answered
Chosen Option ; C
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Q.10 2742 (w7gf 'A* &7 3rdf & H@T &7 W) B 13 A ARG 73 W w0 Yuwe e 82
Ans o A 1

X B4
X co
X D3

Question ID : 663695172
Status : Not Answered
Chosen Option : --

Section : Civil Engineering

Q1 I WA PT ITHTT FT §IT 112 e GoH TH=a 0= 1T 27
Ans O A 526 firdt

X B.6.25 ot
X coarsfadft das
o D. 475 finft ok 3wl wu

Question ID : 663695176
Status : Answered
Chosen Option: D

Q.2 iy, BT IR wETET fFEd w2
Ans X' A frE wTR

X B UET @R
X C. e W
. wEET

Question ID : 663695217
Status : Answered
Chosen Option : B

Q3 72 Ngmﬂsss N T YR ISTaT o Gl & | T Wi &1 3 ergurd 20 8, of 7<=
Eoi

Ans X A afrasf
o B Terwviiy
X c.afE

X D. sermiig

Question ID : 663695199
Status : Not Answered
Chosen Option : --
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Q.4 The tendency of material to shatter on receiving shock is known as:
Ans X A resilience

«B brittleness
< C. ductility
x D. hardness

Question ID : 663695193
Status : Answered
Chosen Option: A

Q.5 Which of the following is a perfect example of adhesives that set with the exclusion of
air?

Ans JA. Superglue
x B. Polymerisation of epoxies
x C. Bitumens

x D. Polyurethane adhesives

Question ID : 663695201
Status : Answered
Chosen Option: C

Q.6 The given figure is for a commonly used bricklayer’s tool which is called:

Ans x A. brick trowel
< B. brick setter

, C. bolster

25 D. brick liner

Question ID ; 663695224
Status : Answered
Chosen Option: C

Q.7 What will be the shape of bending moment diagram for uniformly varying load?
Ans X A Parabolic

< B. Constant

W C. Cubic
x D. Linear

Question ID ; 663695194
Status : Answered
Chosen Option: C
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Q.8 The region normally occurs adjacent to mid-span where BM is large and shear force is
either zero or very small is known as:

Ans x A. region of flexural-shear cracks
x B. region of diagonal tension cracks
« C. region of flexural cracks
x D. region of web shear cracks

Question ID : 663695209
Status : Answered
Chosen Option: C

Q.9 Which of the following methods of plane tabling has a wider scope if the distances are
obtained tacheometrically with the help of telescopic alidade?

Ans X A Resection

« B. Radiation

x C. Intersection

x D. Traversing

Question ID : 663695221
Status : Answered
Chosen Option : C

Q.10 Which of the following pozzolanic materials is artificial pozzolan?
Ans X' A Shales

x B. Opalinccherts
x C. Diatomaceous earth

« D. Rice husk ash

Question ID : 663695181
Status : Answered
Chosen Option : D

Q.1 7% ¥gw Snae A At A SHlee I F g
Ans X A i

W B 1ft@

X c. i

X D.meR §Y

Question ID : 663695197
Status : Answered
Chosen Option : A
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Q.12 Which of the following processes CANNOT help adjusting a chain if it is found to be
short on testing?

Ans x A. Inserting additional circular links
, B. Replacing worn out rings
x C. Adjusting the links at the end
x D. Straightening the links

Question ID : 663695216
Status : Answered
Chosen Option: D

Q.13 & 7 amopfa ar qufd 82

A AT T
W, V7 70 7
T G100 LR 0 Mo
T TG A T 0 I a TS P 7750l

Ans X A SEUF & Y WR & R &1 arvTa
X B. -y & &1 U I e
o C. S & Ty YR BT S e
X D. B FoR &1 UGN X AU

Question ID : 663695225
Status : Answered
Chosen Option: C

Q.14 Which of the following should have a comparative statement on the last page as an
attachment giving therein the reasons for the increase in the cost in case of each
item?

Ans « A, Revised estimate
x B. Approximate estimate
x C. Supplementary estimate

x D. Special repairs estimate

Question ID : 663695223
Status : Answered
Chosen Option : C

Q.15 is also known as water-plasticity ratio.
Ans  of A Liquidity index
x B. Flow index

x C. Consistency index
x D. Plasticity index

Question ID : 663695189
Status : Answered
Chosen Option : A
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Q.16 {T® Y.<[5Y §F BT TH IS T 4T 14T AT1ee?
Ans X' A TR & SN BT

X B ERF IS4 T
 C.IRFAEF 16 T
X D. SR & ARS8 T

Question ID : 663695211
Status : Answered
Chosen Option : B

Q.17 What is the position of an oxygen atom in a tetrahedral structural unit of clay
minerals?

Ans  of A Atthe tips
x B. In the center
x C. To the extreme right
x D. To the extreme left

Question ID : 663695187
Status : Answered
Chosen Option : C

Q.18 Which of the following soils are formed by the decomposition of rock, removal of
bases and silica and accumulation of iron oxide and aluminium oxide?

Ans 2 A Alluvial soils
« B. Lateritic soils
x C. Desert soils
75 D. Black cotton soils

Question ID : 663695184
Status : Answered
Chosen Option : A

Q.19 The principle on which a screw jack works is similar to that of:
Ans J A. an inclined plane

x B. a differential machine

x C. a pull system
X D.ageared system

Question ID : 663695200
Status : Answered
Chosen Option ; B
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Q.20 Which of the following tests of soil shear strength measurement based on drainage
condition is also known as slow test (S-test)?

Ans x A. Unconsolidated-undrained test
J B. Consolidated-drained test
x C. Composite consolidated-drained test
X D. Consolidated-undrained test

Question ID : 663695188
Status : Answered
Chosen Option: C

Q.21 The method of making high strength concrete which involves adding a small
percentage of finely ground, fully hydrated Portland cement to the fresh concrete mix
is called:

Ans J A. seeding
x B. use of admixtures
x C. revibration

7< D. sulphur impregnation

Question ID : 663695178
Status : Answered
Chosen Option : C

Q.22 is used to reinforce high quality fiberglass and may be made with different
quantities of fibers in different directions, to give higher strengths on a chosen axis.

Ans x A. Chopped strand mat
J B. Woven roving

x C. Roving (yarn)
x D. Loose chopped strand

Question ID : 663695202
Status : Answered
Chosen Option : B

Q.23 are made by assembling timber sections, typically 25-50 mm thick, to form
large beams.

Ans x A. Other board products
/< B. Plywood veneers
J C. Glued-laminated timber

x D. Timber composites

Question ID : 663695204
Status : Answered
Chosen Option : A
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Q.24 Which of the following structures develops in clays that have been reworked or
remoulded?

Ans X' A Clay-matrix structures
J B. Dispersed structures
x C. Single-grained structures

x D. Honeycomb structures

Question ID : 663695186
Status : Answered
Chosen Option : B

Q.25 For a cantilever, the clear distance from the free end of the cantilever to the lateral
restraints shall NOT exceed (where, b is the breadth of the compression face midway
between the lateral restraints):

Ans XA 60D
X B 250 b?
vc 25b
& D. 100 b?

Question |ID : 663695210
Status : Answered
Chosen Option : C

Q.26 Which of the following functions is NOT served by providing transverse
reinforcements in a column?

Ans x A. To prevent sudden brittle failure of the columns
J B. To hold the longitudinal reinforcement in position at the time after concreting
x C. To prevent longitudinal buckling of longitudinal reinforcement

x D. To impart ductility to the column

Question ID : 663695212
Status : Answered
Chosen Option : B

Q.27 uses the principle of similar triangles to measure dimensions in which like
sides are proportional.

Ans X A Scale of chords
x B. Plain scale
IC. Diagonal scale

X D. Vernier scale

Question ID ; 663695213
Status : Answered
Chosen Option : A
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Q.28 g7 Fffevor it w2, yumel & swR Pmfaf@d & & fwst sur sme1R 0.002 finft
F0.06 At F A2

Ans  of n
X B #ws
X c. e firgh
X D

Question 1D : 663695190
Status : Answered
Chosen Option : A

Q.29 Which of the following applications is INCORRECT for Rediset cement?
Ans X A Palletization of iron ore dust

x B. Patch repairs and emergency repairs
J C. Slag-formed prestressed construction

x D. Construction between tides

Question ID : 663695177
Status : Answered
Chosen Option : D

Q.30 is defined as the ratio of volume of air to the volume of voids.
Ans J A. Air content

x B. Percentage air voids
X C. Void ratio

x D. Degree of saturation

Question ID : 663695185
Status : Answered
Chosen Option : A

Q.31 The vectors which are parallel to each other and have same sense but unequal
magnitude are known as:

Ans X A equal vectors
x B. uniform vectors
J C. like vectors

x D. opposite vectors

Question ID ; 663695196
Status : Answered
Chosen Option ; B
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Q.32 W 981 B Tl 3R PO g W Sireifyd wgy 1 TP SETEI 8|
Ans X' A IOAIHR TS

X B.IOERES

X cafds

W D rad AR g

Question ID : 663695195
Status : Answered
Chosen Option : A

Q.33 gt sl & Hay # Pl § ¥ o 91 Y= To| £2
Ans X A foreht oft fiig & ot aren Us e 99 g W e d O 0T @1 X1 & dead g
gl
X B. & R 71 urd & S TR W o € e s 3 8, I=ad Ao weae &
forg o Yt 1 Prean & IR 21 TRe | Sre gty

X C. e Yt s SR O Fed @1 S HHEG I IR Fed §
W D. T = Y & gt @ G iR e g ¥ g e

Question ID : 663695220
Status : Answered
Chosen Option : B

Q.34 UGl o Gad yaferd swie fafo & forg wie wg=rg @t smer Whar e g+ afee?
Ans o A 20tft AT 10 it aw

X B. 15t A& 8 dift s
X c. 254 @ & 10 didfi 0@
X D. 30t @ %x 15 it o

Question |ID : 663695222
Status : Answered
Chosen Option : A

Q.35 IARA TEaTaEl & fEusa & e el Y ¥ s @ Aftrad a8 22
Ans  of A gfe s fafu

X B. AEEER 3 fafy

X c. fufewe fafy

X D. s ez fafyy

Question ID : 663695207
Status : Answered
Chosen Option : B

Page- 18




Q.36 Fmfifea & & B O urme B geyE Y w8 g
Ans X A Bfdw s

25 B. SIS TR @1 g
 c =R g
X D. Feafer ag

Question ID : 663695218
Status : Not Answered
Chosen Option : --

Q.37 Fafufay # @ 19 u faaa swie e agd o0 gl amar g iy g2
Ans X' A FLGEE FHT

X B. T 99 &1 GY=T HHIC
X c Fmadwe
W 0. sTER Fwle

Question ID : 663695206
Status : Not Answered
Chosen Option : --

Q.38 X.X 3f&f 3fI¥ Y-Y 37&f U HH: 20 forft =2 3% 30 fopft e¥ v SngaTeR @S BT wsw
3meol §d B

Ans XA 45 x 10° mm*, 24 x 10° mm*
X 8 52 x 10° mm*, 20 x 10° mm*
X ¢ 40 x 10° mm*, 20 X 10° mm*
' 0 45 x 10° mm*, 20 x 10 mm*

Question ID : 663695198
Status : Not Answered
Chosen Option : --

Q.39 I BT 3T TSIV Ted DI Bra Tl (%) T4 e 82
Ans x A.004-03

X B.18-4

X c.03-07

o D07-17

Question ID : 663695205
Status : Not Answered
Chosen Option : --
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Q.40 FPafifae & & o §1 W gw? TF e 0o 91 &7 v § Rrad aR # st 3 woRidht
T UET B 3R wrdherar ST srdt (a7) @Y aer BT grar et wrar 27

Ans O A frouE-dE
X B. TS
o c. a fa.usfha
X D. FeH o1 Hife afeye

Question ID : 663695179
Status : Not Answered
Chosen Option : --

Q.41 gefifrafi €t &t Wit wmed amm & wR e were # 9t @:
Ans X' A 12-120 THUIG

X B.90-140 THTIT
X C. 2590 THdT
o D. 50-70 Tty

Question ID : 663695203
Status : Not Answered
Chosen Option : --

Q.42 TR e Qe & wateE & fore Pafifae & @ fvg tus &1 suai fear srar 82
Ans X' A 1 3ft =57 & 0.5 fasehh

o B. 13 = 507 & 100 7
X c13f=10
X D. 1% = 10 200

Question ID : 663695215
Status : Not Answered
Chosen Option : --

Q.43 Wy, f & WA F srguey Rz A T § ok sufng sy e ¥ 4@+ ¥ srur
fFuffya @1 ot 21

Ans xAlqﬁaaﬁ;ﬂ@g
V' B ww & e
X c fa s
X . ReFideE

Question ID : 663695208
Status : Not Answered
Chosen Option : --
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Q.44 Hte ¥ e ot firem # & .3 ww. 9 a5y wigar o g1t 82

Ans X" A 20,000 didiuH
B 15,000 ditig
X c. 7,000 didigy
X D. 3,000 tidteH

Question |ID : 663695180
Status : Not Answered
Chosen Option : --

Q.45 3if¥rew wu | W g i urerer w1 gghrmer #
Ans X' A U IR T39S AR Tag F o

X B. RR-ZreEremar gremrar aftao
' c. FRE1-uRTE T
2% D. ufadi-arsie urTRar wdaon

IR AT ST &

Question ID : 663695191
Status : Not Answered
Chosen Option : --

Q.46 GiferY S Swie & el & & S |1 SuaEi Tad 87

Ans X A gdufiefera F@ic
X B. S srgwonT
W . wert fafa e ae

X o wgdft @

Question ID : 663695182
Status : Not Answered
Chosen Option : --

Q.47 6 Wi Tt TH e, oraw 100 foiw §19 § o ud® foiws 7.92 9 &t §1< &, S¥ =W

TET AT 82
Ans X A TTeIE HEe
X B3R sfaan
X C. SR @1 e
W D. R @t s

Question ID : 663695214
Status : Not Answered
Chosen Option : --
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Q.48 dafei ¥t a8 fafy Rred weT oo wva & 3 & it widl & s v & o fag
s a7 ARy Fraenar a1 SFY TaRae €, ¥ Heard! 82

Ans X A SIopH Bafen

Question ID : 663695219
Status : Not Answered
Chosen Option : --

Q.49 Haite ¥ Fmofo ¥ PafafEe ¥ ) e avor & ge, Mt 9, Tifte fieww anfe =1 s
far wrar 82

Ans X A s
X B &fdm
o c. ofkag
X D.wiEfaET

Question ID : 663695183
Status : Not Answered
Chosen Option : --

Q.50 gy 2y Hitew F arehi= B, Praer umr féwe & s £ siveladwea &
WU SUETS fmar 1ft 81
"3 W FU | U e e el TR IR UR T W &

Iuded HYA ¥ fmwaa &
Ans x A THE
X B.ARE

v c A
X D@

Question ID : 663695192
Status : Not Answered
Chosen Option : --
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